ee [T/ C S ES 9 i1

Paper / Subject Code: 39201/ ANALOG ELECTRONICS - !

QP CODE: 22625

Marks: 80
(3 Hours)

estion No.1 is Compulsory.

Ive any three questions from remaining five questions.

ures to the right indicate full marks.
sume suitable data if required and mention the same In the answer sheet.

ny five of the foilowing - .

What is cross over distortion? How to overcomethe same Q0

Consider a BJT has parameters fr =500MHz, at Ic e lmA B =100-and C“ 0.3pk.
Calculate bandwidth of f and capacntaneexCu qf e_ _BJ-T-~ U

Implement Vo = - 3V +4V,; + 2V3) ﬁs:hg‘OPAmp

Define the CMRR of leferentnaL Amﬁhﬁer Why constant current source blasmg S

preferred for Differential Amphﬁe‘r?u \3 \Qi‘“\ YO
) \1 W A o

x.’\ Q’{-* “‘e

Draw the circuit diagram of w1dlarﬁcu1;ren‘t source and derwe the relatlonshlp between

output current and reference currenb

A zener voltage regulator as shown__m Flg Af: has Vz 6.2V. The input voltage varies
from 10 V to 15. V‘ and load cun:elxt 15160 mA To hold output voltage constant under

-iU : A ' ? (
all condltlons\\ what Q}shﬂogld bfeanthe renge of . serles resmtance (Rsmin and Rsmax)
(I lqu«r S PR ST NP SIS P P S F LS
Zmin — o252 AVWAD) A, AV P (DA ¢ b _,;f-‘-';".:"f-" NP LR
AYA t‘h L-@ Q\ y‘::i . 'ﬂ:..n. ﬁ‘:f%ﬁ“:‘;h ‘?;:‘:j ‘ﬁ'éﬁ:‘: t::‘* ‘* ~":~1-:'“h J ‘J NS
O N -f.h_ Q@ o
:-ﬁ;. _5-_: ‘_{*:’} Ll_\:"‘;‘:;“f {“;. _
; o ;._x Q'-I , K
o N .”‘ "_.'.'*-J,_-l:_-ﬁ:{-':ﬂ;" .h':{ ﬂ,_t"' A
¥ o IR \)fn Ru
. ’L‘_ / QR
, = Y -1' '
. » Y X, ¢ O 1 s N ep
ke ‘ VDo O w D V00 AV e T
AP \‘ ! ""lﬂ.,f{f C' .‘;;:,.:.Miﬁl:;_;:{-.‘if.: ‘I‘:;:I;".«'l*;" _ﬁ-_x“’\k!‘g&u_-’lf
. ¢ o N , )
-_Dctermme the corner freq\uencyfgndﬂemammum gain of a bipolar common-emitter 10

N t:' ""'J' 1—

_clrcunfshown l[l F lg Za{, WIth an mput ceuplmg capacitor.

L'." - .r_| J " : i f i ""'-ll -l‘\ r‘h_ _I:\..'.I --" E i}f {




e

4

Paper / Subject Code: 39201/ ANALOG E LECTRON| g |

Vee = 10 V Qp X!

R, 2kQ

. Un
Re Cc =03}V
G Vae(on) =

O | K52 4 UF ﬁ ah
VA =

= 04 kL

Flg 2_a

(b) Draw the circuits of OpAmp based mtegrator CII‘CUlt and derive the eXpressmnf
X 0

output voltage. What are the llmltatlons of integrator circuit and how to overcom, h
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Fig. 4a
Draw circuit diagram of cascode amplifier using BJT and derive exP“?S?‘QnT for
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Draw and explain the working of Class A power amplifier (transformer coupled).
For the basic three trarisistor current source shown in Fig. 5b, the parameters are

voltage gain, input resistance and output resistance.

Derive the expression for efficiency.

V. OV and R; = 12KQ, for all transistors Vg (on) = 0.7V,
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